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Question No: 1 ( Marks: 1 ) - Please choose one

Intersection of two straight lines is --------------

» Surface
» Curve

» Plane

» Point

Question No: 2 ( Marks: 1 ) - Please choose one

Plane isa --------------- surface.

» One-dimensional

» Two-dimensional

» Three-dimensional

» Dimensionless



Question No: 3 ( Marks: 1 ) - Please choose one

Letw=f(x,y, z)and x = g(r, s),y = h(r, s), z = ¥(r, s) then by
chain rule

ow _

or

Owodx Owdy  Owo0z
— =

p OxOr 0yor O0zor

Qwdr , wy  w oz
Or Or Or Or Or Or

0wdx dx dwdy y , dwdz 0z
Ox Or 0s Oy Or Os 0z Or Os

owdr , owor  owor
Or Ox Or dy Or 0z

Question No: 4 ( Marks: 1 ) - Please choose one

What are the parametric equations that correspond to the

following vector equation?

A

r(¢) =sin’ ti+(1—cos2t) j

B x=sin’t , y=1-cos2t , z=0

» y=sin’t , x=1-cos2t , z=0



» x=sin’t , y=l-cos2t , z=1
» x=sin’t , y=cos2t ,z=1
Question No: 5 ( Marks: 1 ) - Please choose one

What are the parametric equations that correspond to the

following vector equation?

r(1) =2t 1) i=3r j+sin3tk

» z=2-1 , x=-3Jt , y=sin3
» y=2t-1 , x=-3Jt , z=sin3t
» x=2¢-1 , z=-3Jt , y=sin3t
> x=2-1 , y=-3Jr , z=sin3t
Question No: 6 ( Marks: 1 ) - Please choose one

What is the derivative of following vector-valued function?

;(t) =(cos5t, tant , 6sint)

- [kin 5¢ C
r(t)= , sect , 6cost
> TOSFS E



—sin 5¢
5

> r(6)=(

, sect , 6¢cost)

P /'(t) = (=5sin5t, sec’ ¢ , 6cost)

P (1) =(sin5t, sec’t , —6cost)

Question No: 7 ( Marks: 1 ) - Please choose one

What is the derivative of following vector-valued function?

;(t)=§“,vt+1,%[

1 -6

>, 0 L
> V(t):HI‘f3, ,—t+1 ,t—3E

- 0 1 6L

> V(ZL)—H”J, 2 t+1 ’Z‘_3E

GO 1 6L

> r([)_H‘t ) 2 t+l 5 t3 E

G O 1 —6L

> r(t)—g‘f 5 2 t+1 > t3 E
Question No: 8 ( Marks: 1 ) - Please choose one

The following differential is exact
dz=(x"y+y) dc—x dy



» True

» False

Question No: 9 ( Marks: 1 ) - Please choose one

Which one of the following is correct Wallis Sine formula when
is evenand n=2?

5 #182
2 (e (n=3) (nms) 5 3 1 Pa9@

> ‘O[ sin xabc—5 Pl o B >33

> 2 " x:(n—l) n—3) (n—S) _______ 642
[ =) () 753

> 2 T (n) (n-2) (n-4) 642
[ s = Ty [n=3) (nms) 531

I L) I U N L) D 642
e e e oy 531

Question No: 10 ( Marks: 1 ) - Please choose one

Match the following equation in polar co-ordinates with its graph.



rcos@=a

where a is an arbitrary cons tant

>

Y

0, a)

B N
>
>
>
Question No: 11 ( Marks: 1 ) - Please choose one

If the equation of a curve, in polar co-ordinates, remains
unchanged after replacing (. 6) by (. 7-6) then the curve is
said to be symmetric about which of the following?



» Initial line
» Y-axis

» Pole

Question No: 12 ( Marks: 1 ) - Please choose one

If the equation of a curve, in polar co-ordinates, remains
unchanged after replacing (- 6) by (-7, 6) then the curve is said
to be symmetric about which of the following?

» Initial line

» y-axis

» Pole

Question No: 13 ( Marks: 1 ) - Please choose one

What is the amplitude of a periodic function defined by
f(x)=sin>?

> O

> 1



>

W | =

» Does not exist

Question No: 14 ( Marks: 1 ) - Please choose one

What is the period of a periodic function defined by
f(x)=4cos3x?

Vi
>

Wy

Question No: 15 ( Marks: 1 ) - Please choose one

Match the following periodic function with its graph.
(B 0<x<4
f(x)= )

4<x<6

0 B WW oy




> 0 4 6 0 12 x Page #198

Question No: 16 ( Marks: 1 ) - Please choose one

What is the period of periodic function whose graph is as
below?

> 5

> 6

> 8



Question No: 17 ( Marks: 1 ) - Please choose one

What is the period of periodic function whose graph is as below?

» 6

> 8

Question No: 18 ( Marks: 1 ) - Please choose one

Let L denotes the Laplace Transform.

If LiF®W}=/() where s is a constant.and {ijlggFl—t(t)E exists then
which of the following equation holds?

OF(1)d_

> LBTH—f(Ha)

LSFI—U)§:f(s—a)

t

>



OF ()07

> LBTH—J’ f(s) ds

JOF@O 0

d
> —g{f(S)}

Question No: 19 ( Marks: 1 ) - Please choose one

Which of the following is Laplace inverse transform of the

function /(s) defined by f(S)=% - %?
s=2 S

» 3?2
p 3t -2

p 37 -2

» None of these.

Question No: 20 ( Marks: 1 ) - Please choose one

Let & 21> 2) and (%2 722 ) be any two points in three dimensional
space. What does the formula y/(x, =x)* +(y, =3’ +(z, -2 )
calculates?

» Distance between these two points



» Midpoint of the line joining these two points

» Ratio between these two points

Question No: 21 ( Marks: 1 ) - Please choose one

Let the functions F(x,y)and 9(x.») are finite and continuous
inside and at the boundary of a closed curve C in the xy-
plane. If (P dx+0Qdy) is an exact differential then

~

N de+Qdy

C

» Zero

» One

» Infinite

Question No: 22 ( Marks: 1 ) - Please choose one

What is Laplace transform of the function () if F()=1



>
> L{ t} =s
Question No: 23 ( Marks: 1 ) - Please choose one

What is the value of L{e*}if L denotes laplace transform?

1
s—5

L{eSt} -

s
s?+25

Lie} =

5
s*+25

Lie"} =

5!
L{eSt} = <
S

Question No: 24 ( Marks: 1 ) - Please choose one

Evaluate the line integral l Bx+2y) dx+Qx=1) &y whepe C is

the line segment from (0, 0) to (O, 2).

> 1

» O



> 2

Question No: 25 ( Marks: 1 ) - Please choose one

Evaluate the line integral { (2x+y) dx+(=2) v whepe C is the
line segment from (0, O) to (2, 0).

» O

> 4

> 4

» Do not exist

Question No: 26 ( Marks: 1 ) - Please choose one

Which of the following are direction ratios for the line joining

the points (-3 and @ =1 9>

» 3, 2and 9



» 1,-4and -1

» 2, -3 and 20

» 05, -3and 5/4

Question No: 27 ( Marks: 1 ) - Please choose one

If R={(x,y)/0<x<2and1< y <4}, then
H (6x% +4xy”)dA =
R

4 2

> I J' (6x> +4xy”)dydx
1 0

2 4

> '0[ I (6x* +4xy”)dxdy

> (6x> +4xy”)dxdy

»—-% N
Oy 10

4 1

> I J’ (6x> +4xy”)dxdy
2 0



Question No: 28 ( Marks: 1 ) - Please choose one

Which of the following is true for a periodic function whose
graph is as below?

» Even function

» Odd function

» Neither even nor odd function

Question No: 29 ( Marks: 1 ) - Please choose one
A2
| | i | |
| | “ | |
R
i 3 i i t
| | | |
| | 1 | |
I L I I
| I L

Which of the following is true for a function whose graph is
given above.

» An odd function



» An even function

» Neither even nor odd

Question No: 30 ( Marks: 1 ) - Please choose one

At each point of domain, the function ----------------

» Is defined

» Is continuous

» Isinfinite

» Has a limit

Question No: 31 ( Marks: 2)

Determine whether the following differential is exact or not.
dz=4x’y’ dx+3x*y* dy

Solution:



dz =4x’y" dx+3x*y* dy

dp 3.2
—~ =12

dy *
00 32
—==12
ax Y
op _ 090
dy 0X
yes

Question No: 32 ( Marks: 2)

Evaluate

Vi
I sin nx dx
=17

where n is an integer other than zero.

Solution:

m
J' sin nx dx
=17

:lj-cosnan
H » H,

_ lj—cosan+ cosnit[]

_Hn n%

1
=—(—cosniT+ cosnir)
n

=0

Question No: 33 ( Marks: 2 )

Find Laplce transform of the function () if F@)=¢"

Solution:



L(e3t) :Ie3t _e—st
0

e dt

Ny 8

—(s-3)t

}1im 0 — o0
—(s—3)

Question No: 34 ( Marks: 3 )

Determine the Fourier co-efficient @ of the periodic function

defined below:
f(x)=2x+1 0<x<2

Solution:
a = %I_if(x)dx

S(x)=Q2x+1)
(0,2)

= J'OZ (2x +1)dx

=5+,

=6

Question No: 35 ( Marks: 3 )




Determine whether the following differential is exact or not.

dz =(3x’e” —=2y°e™) dx+ (2x’ e —2ye™ ) dy

Solution:
dz = Pdx + Qdy
Therefore,
For dz to be an exact differential it must satisfy 6_P = 6_Q
dy  Ox
But this test fails becuase a—P Z a—Q
dy 0x
Not Exact

Question No: 36 ( Marks: 3 )

Use Wallis sine formula to evaluate (sin3x+sin5x dx

ey 10|y

Solution:



J'O2 sin® xdx

S
|
—_

I
w
[N
—_

(=}
ERTTN
. (98]

S}
z
Bkll
g
<

S

|
—_
S

|
w

()]
| S
—_
w3
[
W o

U] ‘
)

|
\S)

(VNN
w | N

sin® x +sin’ x| dx

Oy 10 |

I
W N
+
(O NN

(SN )

Question No: 37 ( Marks: 5)

Evaluate the following line integral which is independent of path.

(3,2)
(2xe”) dx +(x*e”) dy
(0,0)

Solution:



p= g_z =2¢” J'2eydx
x

0 :
= é =x'e’ J'xzeydy
= (P b
z __[(0,0) xe’ +x"ye
z=6e" +18¢°

z=24¢°

Question No: 38 ( Marks: 5)

Determine the Fourier coefficients b, for a periodic function /()

of period 2 defined by
_Ea+y -1<t<0
f(f)—Ep 0<t<l

Solution:

bn = l-[n f(x)sin nxdx
7'[ -1

-1 J“ 4(1+ {) sin nxdx
7T -1

_ 1 40 +¢t)cosnx O

nH n H.,

~41+0) [ cosn(l)—cos n(—l)]
Tin

_—4(1+1)
7n

(cosn+cosn)

Question No: 39 ( Marks: 5)

Determine whether the following vector field r is conservative
or not.

F(x, 7, 2) = (dx—2)i+By+2) j+(y 1)k
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Question No: 1  ( Marks: 1) - Please choose one

-------------------- planes intersect at right angle fo form three
dimensional space.

» Three

» Four

» Eight

» Twelve

Question No: 2 ( Marks: 1) - Please choose one

If the positive direction of x, y axes are known then ------------
the positive direction of z-axis.
» Horizontal rightward direction is
» Vertical upward direction is
» Left hand rule tells
» Right hand rule tells

Question No: 3  ( Marks: 1 ) - Please choose one

What is the distance between points (3, 2, 4) and (6, 10, -1)?
> 7.2
» 26
> 34
> 73

Question No: 4 ( Marks: 1 ) - Please choose one



The equation ax+by+cz+d =0 where a,b,c,d are real numbers, is
the general equation of which of the following?

» Plane
» Line
» Curve
» Circle
Question No: 5 ( Marks: 1) - Please choose one
. . . O C .
The spherical co-ordinates of a point are Bf g %TE What are its

cylinderical co-ordinates?

03 3 C
=,0
> 2 b 27
> 4 3cos—,\/§sinz,0[
3k
)-D 3$n—-—3v660&5[
3t
Or 7 O
3,20
, B3
Question No: 6 ( Marks: 1 ) - Please choose one

Domain of the function f(x, y)=+y-x"is

> y<x
> y=>x
> y;'fx2
» Entire space

Question No: 7 (Marks: 1) - Please choose one



Match the following vector-valued function with its graph.

r(t) =costi+sint j+2k and 0<sr<2m

&y
|
O o 1 .
—
> \
PN
|
a
J"_ y
) ™y .
- £
>
—
C b
M A
|
7
s
) o :
>
S E T
(@
i Tl
> -

Question No: 8 ( Marks: 1) - Please choose one

What are the parametric equations that correspond to the
following vector equation?
7(7) = sin’ t;+ (1-cos 21)}

» x=sin’t , y=l-cos2t , z=0
» y=sin’t , x=1-cos2t , z=0



» x=sin’t , y=l-cos2t , z=1
» x=sin’t , y=cos2t ,z=1

Question No: 9 (Marks: 1) - Please choose one

What are the parametric equations that correspond to the

following vector equation?

r(f) =(2t=1)i=3r j+sin3tk

» z=2-1 , x=-3Jr , y=sin3t
» y=2r-1 , x=—3\/; , z =sin 3¢t
» x=2t-1 , z=-3Jtr , y=sin3t
» x=2-1 , y=-3Jr , z=sin3t
Question No: 10 ( Marks: 1 ) - Please choose one

Is the following vector-valued function ;) continuous at t=1? If

not, why?
P =0
» ,(ris continuous at =1
» ,(1)is hot defined
» (1)is defined but lim r(t) does not exist

» (1)is defined and lim r(t)exists but these two
numbers are not equal.

Question No: 11  ( Marks: 1 ) - Please choose one

Which one of the following is correct Wallis Sine formula when »
is evenand n=2?



> T 2

> [arsacll et

[ T R

SR
Question No: 12 (Marks: 1) - Please choose one

Which one of the following is correct Wallis Cosine formula when
n is odd and nz3?

m

g R S = I R £
g R AT i 1= R £
S =
S = 1= B
Question No: 13 ( Marks: 1) - Please choose one

If the equation of a curve, in polar co-ordinates, remains
unchanged after replacing (> 9) by (v, m=6) then the curve is said
to be symmetric about which of the following?

» Tnitial line
> y-axis
» Pole

Question No: 14 ( Marks: 1 ) - Please choose one



If a>0,then the equation, in polar co-ordinates, of the form
r* =a’cos28 represent which of the following family of curves?
» Leminscate
» Cardiods
» Rose curves
» Spiral

Question No: 15 ( Marks: 1 ) - Please choose one

What is the period of a periodic function defined by /(x) =sin§?

JT
>

p T

3
> 7
p 4T

Question No: 16 ( Marks: 1 ) - Please choose one

What is the period of periodic function whose graph is as below?

Question No: 17 ( Marks: 1 ) - Please choose one

What is the period of periodic function whose graph is as below?



2.25

fix)

» 0
» 2.25
> 3
> 6

Question No: 18 ( Marks: 1) - Please choose one

Let L denotes the Laplace Transform.
If L{F(®}=/(s)where s is a constant, then which of the following

equation holds?
> Li F(t)}=-%{f(s)}
b Lit F(0)} = f(s+0)
> Lit F()}= (5)

> LUF©}=[ f(5)ds

Question No: 19 ( Marks: 1) - Please choose one

The graph of an odd function is symmetrical about ----------------
» x-axis
» y-axis
» origin

Question No: 20 ( Marks: 1 ) - Please choose one

Consider the function f(x, y,z)=\1-x*-y’>-z> . What is the value of
1 1C
Jite
1
> fﬁ)a 55

»fﬁ),%,

N — N
N | =

T o



> fﬁ),

> f

= N =

o= P
S S
(e}

(0

Question No: 21  ( Marks: 1 ) - Please choose one

The path of integration of a line integral must be -------------
» straight and single-valued
» continuous and single-valued
» straight and multiple-valued
» continuous and multiple-valued

Question No: 22 ( Marks: 1 ) - Please choose one

Sign of line integral is reversed when -----------
» path of integration is divided into parts.
» path of integration is parallel to y-axis.
» direction of path of integration is reversed.
» path of integration is parallel to x-axis.

Question No: 23 ( Marks: 1 ) - Please choose one

Let the functions P(x, y)and O(x, ») are finite and continuous
inside and at the boundary of a closed curve C in the xy-plane.
If (Pdx+ Qdy) is an exact differential then

~

N Pa’x+Qdy

C

» Zero

» One
» Infinite

Question No: 24 ( Marks: 1 ) - Please choose one



What is the value of Lie"}if L denotes laplace transform?
1
Lie" = —

s—5
Sty — S
Liemy = s +25
sy =D
Led =355
s _ 5!
Lie’} = =
Question No: 25 ( Marks: 1 ) - Please choose one
What is laplace transform of the function £(0)if #(t)=sin3t?
. _ 3
> L{sin 3¢} = 749
. _ S
> L{sin 3t} = 739
> L{sin 3t} = 3
Li{sin 3t} = 3—4'
> S
Question No: 26 ( Marks: 1 ) - Please choose one
If L denotes laplace transform then
Lite’} =
Lite™} = 73
sy -1
Lite™} =— 3
Lite™} = ! >
> (s+5)
Lite’} = ! >
> (S—5)

Question No: 27 ( Marks: 1 ) - Please choose one



Evaluate the line integral ,C[ Bx+2y) de+Qx=0) & \yhere C is the

line segment from (0, 0) to (O, 2).

> 1

» O

> 2
> -2

Question No: 28 ( Marks: 1 ) - Please choose one

Evaluate the line integral ,C[ 2x+y) de+ (X =) & \yhore C is the

line segment from (0, 0) to (O, 2).

> -4
> -2
» 0
> 2
Question No: 29 ( Marks: 1 ) - Please choose one
Divergence of a vector function is always a ------------
» Scalar
» Vector
Question No: 30 ( Marks: 1 ) - Please choose one
t
1 3'L |

(=1




Which of the following is true for a function whose graph is given
above

» An odd function
» An even function

» Neither even nor odd

Question No: 31 ( Marks: 2)

Does the following limit exist? If yes find its value, if no give

reason

. . Lo agr
mge? +5)i+ (> +2t=-3) j+
ltho e’ +5)i+(t"+2t-3)] E %E

Question No: 32 ( Marks: 2)

Define the periodic function whose graph is shown below.

0{24 6

Question No: 33 ( Marks: 2 )

Find Laplace Transform of the function £®if £ =t
Solution:

The Laplace transform of the given function will be:



f=r

41
L{t4 :S_5

Question No: 34 ( Marks: 3)

Determine whether the following differential is exact or not.

dz =(4x’y +2xy") dx+ (x* +3x*)*) dy

Question No: 35 ( Marks: 3)

Use Wallis sine formula to evaluate (sin3x+sin5x dx

ey 10 [

Solution:

us

2
J’sin8 xdx = Zé [P
) 8 6

Question No: 36 ( Marks: 3 )

Find Laplace transform of the function #()if
F(t)=¢" sin 3¢
Solution:

Laplace transform will be



L(t) =sin3t........... 2

a
L(t) = =
a
5749
Combining,

L(r)= (S%zx

L(t) =

a
s*+9

)

Question No: 37 ( Marks: 5)

Using definite integral, find area of the region that is enclosed
between the curves y=x" and y=+/x

1.5

Question No: 38 ( Marks: 5)

Determine the fourier co-efficient b, of the following function.
f(x)=x 0<x<2m

Question No: 39 ( Marks: 5)



Determine whether the following vector field ¢ is conservative
or not.

F(x, y, 2) = (4x—2)i+ By +2) j+(y-x)k
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Time: 120 min
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Question No: 1 ( Marks: 1 ) - Please choose one
T is an example of -----------
» Irrational numbers
» Rational humbers
» Integers
» Natural numbers
Question No: 2 ( Marks: 1 ) - Please choose one

Straight line is a special kind of ----------------

» Surface

» Curve

» Plane



» Parabola

Question No: 3 ( Marks: 1 ) - Please choose one
An ordered friple corresponds to ----------- in three dimensional
space.

» A unique point

» A point in each octant

» Three points

» Infinite number of points

Question No: 4 ( Marks: 1 ) - Please choose one

The angles which a line makes with positive x |y and z-axis are
known as ------------

» Direction cosines

» Direction ratios

» Direction angles



Question No: 5 ( Marks: 1 ) - Please choose one

Is the function f(x. ) continuous at origin? If not, why?

f(x, y) =4xy +sin3x’y
» /f(x,») is continuous at origin

» f(0,0) is not defined

» /(0,0) is defined but , m  /(x.3) does not exist

» /(0,0) is defined and . ™  /(*:3) exists but these two
numbers are not equal.

Question No: 6 ( Marks: 1 ) - Please choose one

Match the following vector-valued function with its graph.

r(t)=3costi+3sintj and Os¢<2m



N
.,—"’i
j
/'J
> <
|
|
. — - N
> |
> L
Question No: 7 ( Marks: 1 ) - Please choose one

Match the following vector-valued function with its graph.

r(t)=ti+t* j+£k and 120



Question No: 8 ( Marks: 1 ) - Please choose one

What are the parametric equations that correspond to the

following vector equation?

r(¢) =sin’ ti+(1—cos2t) j



» x=sint , y=l-cos2t , z=0

» y=sin’t , x=1-cos2t , z=0
» x=sin’t , y=l-cos2t , z=1
» x=sin’t , y=cos2t ,z=1
Question No: 9 ( Marks: 1 ) - Please choose one

Is the following vector-valued function () continuous at ¢=0? If
not, why?

;(t) =(4cost, Ji , 4sint)
» ,(0)is hot defined
» ,(0)is defined but lim r(t) does not exist

» (0)is defined and lim r(t) exists but these two numbers

are not equal.

» ,()is continuous at =0

Question No: 10 ( Marks: 1 ) - Please choose one




What is the derivative of following vector-valued function?
;(t) =(cos5t, tant , 6sint)
- [kin 5¢ L
"(t) = , sect , 6¢cost
> r0TE :

—sin 5¢
5

, sect , 6¢cost)

> r(6)=(

P /(¢)=(=5sin5t, sec’ ¢ , 6cost)

P (1) =(sin5t, sec’t , —6cost)

Question No: 11 ( Marks: 1 ) - Please choose one

The following differential is exact
dz=(3x’y+2) dx+(x’ +y) dy

» True

» False

Question No: 12 ( Marks: 1 ) - Please choose one

The following differential is exact
dz =(3x” +4xy) dx+(2x* +2y) dy



» True

» False

Question No: 13 ( Marks: 1 ) - Please choose one

Which one of the following is correct Wallis Sine formula when
is odd and n=3?

S 1

> o o gt

> faratl e

> sy g
Question No: 14  ( Marks: 1) - Please choose one

Which of the following is correct?



v
Oy 10|

sin x dv= —
16
2 ) 3
> I sin x dx==—"—
J 16
> : 4
sin" x dx ==
J
2 ) 21
> J' sin*x dx= =—
0
Question No: 15 ( Marks: 1 ) - Please choose one

Match the following equation in polar co-ordinates with its graph.
r=4sin @




Question No: 16 ( Marks: 1 ) - Please choose one

If the equation of a curve, in polar co-ordinates, remains
unchanged after replacing (> 9) by (. 7-6) then the curve is said
to be symmeftric about which of the following?

» TInitial line

» y-axis

» Pole

Question No: 17 ( Marks: 1 ) - Please choose one

What is the period of a periodic function defined by /(x) =sin§?

>

|y



Question No: 18

Match the following periodic function with its graph.

fx)=

o=

X

- X

COP R

O0<x<4

4<x<10
10<x<13

( Marks: 1 ) - Please choose one



Question No: 19 ( Marks: 1 ) - Please choose one

What is the period of periodic function whose graph is as below?

2 ,,,,,,,,,,,,,,,,,,, - ————
flx) r\
0

> 2
> 3
> 4

» 5

Question No: 20 ( Marks: 1 ) - Please choose one

What is the period of periodic function whose graph is as below?
%

JANAN

0 g 27 3 X

» O

> 2

p 77



» 2

Question No: 21 ( Marks: 1 ) - Please choose one

3
2
is another possible polar co-ordinates representation of this

point?

Polar co-ordinates of a point are %2, E Which of the following

v
=4

T

v
|4

T

v
|4

T

v

o

1

Question No: 22 ( Marks: 1 ) - Please choose one

The function f(x)=x¢€ ig ———=mmcmmemmv

» Even function

» Odd function



» Neither even nor odd

Question No: 23 ( Marks: 1 ) - Please choose one

The graph of an even function is symmetrical about ---------------
» x-axis
» y-axis

» origin

Question No: 24 ( Marks: 1 ) - Please choose one

At which point the vertex of parabola, represented by the

—4x+3 occurs?

equation y=x
p (0.3
p (2.-1)
p (2,15

> (10)

Question No: 25 ( Marks: 1 ) - Please choose one




The equation ¥ = ~#*2 pepresents a parabola. Find a point at

which the vertex of given parabola occurs?
» (272
p (4,34
p (0,0

p (2.14)

Question No: 26 ( Marks: 1 ) - Please choose one

Is the function f(x,») continuous at origin? If not, why?

_ Xy
f(x, ) e
» /f(x,») is continuous at origin
p Jim (%)) does not exist

» /(0,0) is defined and . ™  /(*:3) exists but these two
numbers are not equal.

Question No: 27 ( Marks: 1 ) - Please choose one

Sign of line integral is reversed when -----------

» path of integration is divided into parts.



» path of integration is parallel to y-axis.
> direction of path of integration is reversed.

> path of integration is parallel to x-axis.

Question No: 28 ( Marks: 1 ) - Please choose one

What is Laplace transform of a function F(t)?

(s is a constant)

N

I e F(t)dt
> 0

I e’ F(t)dt
> 0

I e F(t)dt
> —00

I e F(t)dt
» 0

Question No: 29 ( Marks: 1 ) - Please choose one

What is the value of Lie"}if L denotes laplace transform?



—

L{e’} =

> s—5

L 5t -
> e s*+25
5
L 5t -
. M= Es
|
Lie™" = 5—6
> S
Question No: 30 ( Marks: 1 ) - Please choose one

1

What is the Laplace Inverse Transform of s+l

L B—§:t+l

L0

| ‘u |

OO
I
Q
K
+
QN

[
|
Q

! ;_

[
|
Q



Question No: 31 ( Marks: 1 ) - Please choose one

5
What is Laplace Inverse Transform of s +25
05

L' ——=sin 5
» isz +25 -

[

=cos

= sin 25¢

Ny
.

[

Question No: 32 ( Marks: 1 ) - Please choose one

What is Li0}if L denotes Laplace Transform?

1
L{-6} =
> =65 s+6

L{-6}= %6

s
L{-6} =
> 6} 5T +36

-6
L{-6}=
> 6} 57 +36




Question No: 33 ( Marks: 1 ) - Please choose one

Evaluate the line integral _C[ Bx+2y) de+Qx=0) & \yhere C is the

line segment from (0, 0) to (2, 0).

» Do not exist

Question No: 34 ( Marks: 1 ) - Please choose one

Evaluate the line integral ,C[ 2x+y) de+ (X =) & \hore C is the

line segment from (0, 0) to (O, 2).

> -4
> -2
> 0

> 2



Question No: 35 ( Marks: 1 ) - Please choose one

Plane is an example of -------------------—-

» Curve

» Surface

» Sphere

» Cone

Question No: 36 ( Marks: 1 ) - Please choose one

If R={(x,y)/0sx<2and-1< y <1},then
II (x+2y%)dA =
R

1 2

> J’1 [ (x+2y%)dydx

0

2 -1

> [ [ (c+2y%)dxdy

0 1



(x +2y%)dxdy

Oy 10

1
>

2 0

> Jl' J’1 (x+2y*)dxdy

Question No: 37 ( Marks: 1 ) - Please choose one

To evaluate the line integral, the integrand is expressed in ferms
of x,y, zwith

» dr=dxi+dy)

» dr=dxi+dy]+dyk
p dr=dx+dy+dz

p dr=dx+dy

Question No: 38 ( Marks: 1 ) - Please choose one

Match the following equation in polar co-ordinates with its graph.

r=a

where a is an arbitrary constant.



Question No: 39 ( Marks: 1 ) - Please choose one

Which of the following is true for a periodic function whose
graph is as below?

X _o7 . ] - 2T X

» Even function



» Odd function

» Neither even nor odd function

Question No: 40 ( Marks: 1 ) - Please choose one

JUE)

=k Wk
Levbun bl

/

_2 ave
/

/S

! | |
WK
L 1 1 1

The graph of “saw tooth wave" given above is --------------

» An odd function

» An even function

» Neither even nor odd



Question No: 1  ( Marks: 2) - Please choose one

Laplace transform of 't'is

> 1
S
> 1
S2
> e
> S
Question No: 2 (Marks: 2) - Please choose one

Symmetric equation for the line through (1,3,5) and (2,-2,3) is

> = y+2:_ z=3
3 5

> =Y 3__z+5
2

> x—lz—y_3:— z=5
5 2
> o Y¥3_ z75

Question No: 3 (Marks: 1) - Please choose one




The level curves of f(x, y) =y Cscx are parabolas.
> True.

» False.

Question No: 4 (Marks: 1) - Please choose one

The equation Z=7 is written in

» Rectangular coordinates
» Cylindrical coordinates
» Spherical coordinates

» None of the above
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Question No: 1  ( Marks: 1) - Please choose one

There is one-to-one correspondence between the set of points on
co-ordinate line and ------------
» Set of real numbers

» Set of integers
» Set of natural numbers

» Set of rational numbers

Question No: 2 ( Marks: 1) - Please choose one

Straight line is a special kind of ----------------
» Surface

» Curve
» Plane

» Parabola

Question No: 3 ( Marks: 1 ) - Please choose one

2
lim ==
(x,¥)-(0,0) x +y
> (o]
» O
> 1

» 0.5

Question No: 4 (Marks: 1) - Please choose one

If f(x,»)=xy=)’ +Inx

then 0/

o’




> 2xy+i2
X
1

> 2y+—
X
1

» 2xy-—
X

1
» 2y-—
X

Question No: 5 ( Marks: 1 ) - Please choose one

Suppose f(x, y) =xy =2y where x=3t+1 and y =2t . Which one of the

following is true?

DDDDDDDPD f‘ —4r+2
DDDDDDDVD?f:—l&—t
ooooooowo f—18t+2

DDDDDDDPDL‘ —10¢% +8¢ +1

Question No: 6 ( Marks: 1) - Please choose one

Match the following vector-valued function with its graph.

r(f)=3costi+3sintj and 0<t<2m

oooooogom o <«



ooooooowo L

-3 _1)‘
Ooooooop O \
| gﬁﬁ
]
00ooooow 04
Question No: 7 ( Marks: 1) - Please choose one

What are the parametric equations that correspond to the

following vector equation?

r(¢) =sin’ ti+(1—cos2t) j

» x=sin’t , y=l-cos2t , z=0
» y=sin°t , x=1-cos2t , z=0
» x=sin’t , y=l-cos2t , z=1
» x=sin’t , y=cos2t ,z=1

Question No: 8 ( Marks: 1) - Please choose one

Is the following vector-valued function () continuous at t=g? If

not, why?



r(¢) = (tant, sin¢> , cos?)
o . . T
COOOOOEOR Oy 1s continuous at 1=
~OLC. .
DDDDDDDVDVHEEIS not defined
R . lim l:(l‘) .
JonononoeOrasris defined but M 7Y does not exist
2

0ooooooro ;%Eis defined and M () exists but these two

numbers are not equal.

Question No: 9 ( Marks: 1 ) - Please choose one

What is the derivative of following vector-valued function?
- O 3L
=g Je+1, el

- O 1 -6
DDDDDDDVDFO):H‘W,M,?

- (I 1 6
1) =4, —
Rininininininl 2RRE0)) H“ it P

-

1 —_6[
N

= |:| 3 1 _6[
H=rat, —F/—, —
RIS IRIR ] SaTCRs e Bl

M 0
DDDDDDD»WOFHM‘,

Question No: 10 ( Marks: 1 ) - Please choose one

The following differential is exact
dz :(6xy+2y2 -5) dx +(3x +4xy—6) dy
000000 True
OOoodooo»False

Question No: 11  ( Marks: 1 ) - Please choose one

The following differential is exact
dz=(x"y+y) dc—x dy



0000 00m True
oo oooo»False

Question No: 12 ( Marks: 1 ) - Please choose one

Which one of the following is correct Wallis Sine formula when »
is evenand n=2?

m

SIRIRIRIRININ] SNk T 4 Ut N Uit ) Ui 531
‘(!— 2 n (n-2) (n-4 642
DDDDDDDPD]’ ity ez AN (n73) (nos) 642
) n (n-2) (n-4) 753
DDDDDDD»D} it ge= ) (=2 (n-d) 642
) 2 (n-1) (n=3) (n-5) 531
DDDDDDD»D} it gee M (n=2) (nmd) 642
) (n-1) (n=3) (n-5) 531
Question No: 13 ( Marks: 1 ) - Please choose one

Match the following equation in polar co-ordinates with its graph.
r=4sin @

DDDDDDDPDz—l 1

ooooooowd -2




OooooooowOd

Question No: 14 ( Marks: 1 ) - Please choose one

Match the following equation in polar co-ordinates with its graph.
r=—4sin @
Dooooooro J :

Ooooooow -2

Oooooooowd

Ooooooord
Question No: 15 ( Marks: 1 ) - Please choose one
Match the following periodic function with its graph.

0<x<4

_[B
f@)—g) A<r<

Y

4

T e

ooooooow ol



ooooooor ol SRR
¥

4 o
flx)

ooooooown Sl L

2
fit) | !

S N
0 23‘ ”V
4 gy |

Ooooooow O

Question No: 16 ( Marks: 1 ) - Please choose one

Match the following periodic function with its graph.
4 0<x<5
f(x)= )

5<x<8
Y

4

0
0oooooow O A

Vi

3 b

ooooooor ol el W K

Y

4 -
flx)

0 5 8 X

OooooooowOd

2
flt) 1

N
0 ZBY 78“
4 -

Ooooooow e

Question No: 17 ( Marks: 1 ) - Please choose one



Which of the following condition must be satisfied for a vector
field 7 to be a conservative vector field?

Doooooow Oline integral of £along a curve, depends only on
the endpoints of that curve, not on the particular route taken.
Doooooo»rbivergence of g should be zero

OOO0000w D6radient of g should be zero.
minininininin]_Sujsy

Question No: 18 ( Marks: 1 ) - Please choose one

What is the period of periodic function whose graph is as below?

T

—2r - o T 2

ooooooownor

EININIINININY N
Ooooooow2r
Oooooooowo-2m

Question No: 19 ( Marks: 1 ) - Please choose one

Let L denotes the Laplace Transform.

According fo First Shift Theorem, if LiF()}=/(s) then which of
the following equation holds?

s and a gre constants.

OJoogooop O L{e“F@)) = f(s—a)

OJoogOooap O L{e“F@)) = f(s+a)

OO0 O Le ™ F)} = £(s)

OOO0000 [0 Lie F()} = f(a)

Question No: 20 ( Marks: 1 ) - Please choose one

Polar co-ordinates of a point areﬁl %TE Which of the following is
another possible polar co-ordinates representation of this point?

3
DDDD[DDVD@LTNE



DDDDDDDPDH‘7 STITE

DDDDDDDPDH‘7 %TE

DDDDDDD»D@ _‘TE

Question No: 21 ( Marks: 1 ) - Please choose one

The graph of an even function is symmetrical about ---------------
Ooooooow x-axis
DDDDDDD»Dy—axis
Doooooow Horigin

Question No: 22 ( Marks: 1 ) - Please choose one

Is the function f(x. ) continuous at origin? If not, why?
X

S(x, ) :ngyz

OOOOOOow o f(x y) is continuous at origin

noooooown, im o fes ) does not exist

OO0OoOoR0/(0,0) s defined and |, im /(%)) exists but
these two numbers are not equal.

Question No: 23 ( Marks: 1 ) - Please choose one
Consider the function f(x, y,z)=\1-x*-y’-z* . What is the value of
1 1C
I35
DDDDDDDVDfﬁ)llD 1
2 2H V2
oogoooowdf 110,
P33
1 10 1
DDDDDDDPDfﬁDE EH:E
L L
goooaoow ﬁ)z 2H=



Question No: 24 ( Marks: 1 ) - Please choose one

Sign of line integral is reversed when -----------
DOooooo» Dpath of integration is divided into parts.
Doooogoow Dpath of integration is parallel to y-axis.
Doooogoow Odirection of path of integration is reversed.
Dooooor» Cpath of integration is parallel to x-axis.

Question No: 256 ( Marks: 1 ) - Please choose one

Let the functions P(x, y)and O(x, ») are finite and continuous
inside and at the boundary of a closed curve C in the xy-plane.
If (Pdx+Qdy) is an exact differential then

~

N de+Qdy
C

» Zero

» One
» Infinite

Question No: 26 ( Marks: 1 ) - Please choose one

What is laplace transform of the function ' if F(t)=cos2t?
L{cos 2t} = 22
S

+4
L{cos 2t} = !
s=2
s
L 2t} =
{cos 2t} T2

2!
L{cos 2t} = —
s

Question No: 27 ( Marks: 1 ) - Please choose one

What is L%t if L denotes Laplace Transform?



L{-6} =

L{-6}=—

L{-6}=———
S

Li=6} =

Question No: 28 ( Marks: 1 ) - Please choose one

Curl of vector function is always a --------------
» Scalar
» Vector

Question No: 29 ( Marks: 1 ) - Please choose one

Which of the following is true for a periodic function whose
raph is as below?

X _o7 . ] - 2T X

» Even function
» Odd function
» Neither even nor odd function

Question No: 30 ( Marks: 1 ) - Please choose one
— B‘L —

|
|
|
1
} T t
|
|
|
|

(=1




Which of the following is true for a function whose graph is given
above

» An odd function
» An even function

» Neither even nor odd

Question No: 31 ( Marks: 2)

Evaluate the line integral _C[ 2xd¥ where C is the line segment

from (0,2) to (2, 6)

Question No: 32 ( Marks: 2 )

m

. . 2
Use Wallis sine formula to evaluate J‘ sin® x dx

0

Question No: 33 ( Marks: 2 )

Find Laplace Transform of the function Fif F(®)=sin2

Question No: 34 ( Marks: 3 )

Find aiv F, if ;7:(3x+y)i+xyzzj+(xzz)k

Question No: 35 ( Marks: 3 )

Determine whether the following differential is exact or not.

dz =(4x3y+2xy3) dx + (x4 +3x2y2) dy



Question No: 36 ( Marks: 3 )

Prove whether the following function is even, odd or neither.
f(x)=xe"

Question No: 37 ( Marks: 5)

Evaluate the following line integral which is independent of path.

(=1,0)

| (2xy’) dx+(3y*x*) dy

(2,-2)

Question No: 38 ( Marks: 5)

Determine the fourier co-efficient b, of the following function.
f(x)=x O<x<2m

Question No: 39 ( Marks: 5)

Determine whether the following vector field ¢ is conservative
or not.

I:“(x, v, 2)=CBx+y)itxy’z j+xz’ k

ASSALAM O ALAIKUM
All Dearz fellows
ALL IN ONE MTH301
Final term PAPERS &
MCQz
Created BY Farhan & Ali
BS (cs) 2nd sem
Hackers Group
From Mandi Bahauddin



Remember us in your prayers
Mindhacker124@gmail.com
Hearthacker124@gmail.com



mailto:Hearthacker124@gmail.com

